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HE | FH# HE | P
dtiEE 494 20,299 HEE 91 2. 445
AR 109 2,668 IRARAT 150 5,547
=2F8 91 2117 KB AF 736 28,540
=9 ! 135 3,842 EEER 394 15,090
A E 76 1,876 ZRE 73 2,672
1= 63 1,477 IR 120 3,019
EEE 114 3,073 EBmWE 52 1,913
% ik 12 210 5283 ERE 53 2,047
HAE 150 4610 ) L 124 3,603
HEE 168 5,143 LER 229 7,569
HEE 410 15,134 =)=} 140 3,397
FTEE 332 11,806 mEE 81 2,428
HRAR 372 15,370 EFINE 80 2564
IS 340 13,490 TIEE 166 4,381
HEE 108 3,095 =58 35 1,083
EWE 91 2,425 a2 & 219 8,992
alIE 53 1,701 EEE 22 571
BHE 53 1,576 EIFE 125 3,091
I 74 1,601 EEXRIE 119 3,198
EHE 119 3,454 NN 65 2,165
s B2 12 119 3,360 =IEE 29 1,089
AR 2 156 5,232 BREE 98 2,542
TR 294 10,324 SpfE R 71 2,385
= 204 5,993 = 7,607 255,280




